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Answer all the questions. You can answer in Finnish. The weight of each question is the same.
Good Luck!

1. (6p) Consider the following diagram of an ISLM model:

LM

FiglExaml1216é.

r is the real rate of interest and y the aggregate output (GDP).
) What is the effect of an expansionary fiscal policy in this model?

(ii)  Write down a formal ISLM model, which results into the model described in the diagram
above. Be sure to be explicit about the assumptions you use.

2. (6p) Let the two period lived consumer’s lifetime utility function be: v(cy,cp) =¢; + fey, where
1> > 0. The storage technology in the two-period model is f(k) = 4k, where A > 0. Solve the
planner’s problem, i.e.cj,coand k. Is the solution always unique? Argue briefly that your
solution is also a competitive equilibrium.

3. (6p) Solve the following problem

o0
max z ﬂt—l Inc,
{ct }r=1 t=1
subject to W,y =W, —¢,, ja W3 =10000.

¢;is consumption and W, is wealth ("the size of the cake”) at time t.



4. (6p) A worker is interested in maximizing the expected present value of her lifetime wage

(o]
income, i.e. EZ ,Bt_l ¥; » where y,is the income in period t, and 0 < # <1 is the discount
t=1
factor. E is the expectations operator. She gets one job offer per period. She can either accept
the offer or reject it, and then get another offer next period. If she rejects the offer she gets
unemployment compensation, the amount of which is denoted by c . If she accepts the offer, she
gets the wage, w, for the rest of her life. The optimal value function is the following:

V(w)= max{ 1 hid

B

c+ ,BEV(w')}. Assume fF=4/5 and ¢=2.2. The distribution (density

function) for the wage is w=(0,1,2,3,4) each with probability 1/5. Solve the reservation wage.
Start with the definition of reservation wage!

Return the question sheet!!!






